4o   Assignment

1. What position is the opposite of a purchased call? The opposite of a purchased put?

2. A one-month European put option on a non-dividend paying stock is currently selling for $2.50. The stock price is $47, the strike price is $50, and the risk-free rate is 6% per annum (cc). Is there an arbitrage opportunity?  

3. A four-month European call option on a dividend paying stock is currently selling for $5. The stock price is $64, the strike price is $60, a dividend of 0.8 is expected in one month, and the risk-free rate is 12% per annum (cc) for all maturities. Is there an arbitrage opportunity?

4. A stock currently sells for $32. A 6-month call option with a strike price of $35 has a price of $2.27. Assuming a 4% continuously compounded risk-free rate and a 6% continuous dividend yield, what is the price of the associated put option?

5. What are the arbitrage opportunities if the price of the put option in question 4 was $5? What if this price was $6? 

6. What are the arbitrage opportunities if the price of the call option in question 4 was $2? What if this price was $3? Suppose that the price of the put option is the one that satisfies the put-call-parity.

7. Suppose the S&P 500 index is 800, the continuously compounded risk-free rate is 5%, and the dividend yield is 0%. A 1-year European call option with strike price K=$815 costs $75 and a 1-year European put option with the same strike price costs $45. Consider the strategy of buying the stock, selling the call and buying the put. 

A) What is the rate of return on this position held until the expiration of the options?

B) What is the arbitrage implied by your answer to A)?

C) What difference between the call and the put prices would eliminate arbitrage?

D) What difference between the call and put prices eliminate arbitrage for strike prices of $780, $800, $840? 

